Job Number: 010-016

Bid Date: 9-Oct-18

Project Location: Round Rock, Williamson County, Texas





WAELTZ & PRETE, INC. CIVIL ENGINEERS

3000 Joe DIMAGGIO BLVD. #72 ROUND ROCK, TX. 78665 PH (512) 505-8953 FIRM REG. #F-10308

BID TAB						NTRACTORS		THE BARR	COMP	ANY, AIA		CHASCO C	ONSTR	RUCTORS		VAELTZ (ENGINE	
				Addendum #1		Acknowledged		Addendum #1		Acknowledged		Addendum #1		Acknowledged	Addendu		
				Addendum #2		Acknowledged	-	Addendum #2		Acknowledged		Addendum #2		Acknowledged	Addendu	ım #2	2
				Addendum #3	1	Acknowledged	-	Addendum #3		Acknowledged		Addendum #3		Acknowledged	Addendu	ım #3	-
				Bid Bond		Received	-	Bid Bond		Received	\perp	Bid Bond		Received	Bid Bo	nd	
				Safety Exp		Completed	-	Safety Exp		Completed	-	Safety Exp		Completed	Safety	Ехр	
Bid Item	T	Quantity	Unit	Unit Price	()	Cost		Unit Price		Cost		Unit Price		Cost	Unit P	rice	Cost
1	Total Mobilization Payment, complete in place,	1	LS	\$ 175,000.	00 \$	175,000.00	\$	94,447.00	\$	94,447.00	\$	135,000.00	\$	135,000.00	\$ 50,0	00.00	\$ 50,000.00
2	Unclassified Street Excavation, Plan Quantity, complete in place, (Reference Technical Specifications, ITEM 6 – "City of Round Rock Standard Specifications Modifications")	5,536	CY	\$ 28.	00 \$	155,008.00	\$	24.19	\$	133,915.84	\$	45.00	\$	249,120.00	\$	16.00	\$ 88,576.00
3	Embankment, Plan Quantity, complete in place, (Reference Technical Specifications, ITEM 6 – "City of Round Rock Standard Specifications Modifications")	1,637	CY	\$ 30.	00 \$	49,110.00	\$	14.37	\$	23,523.69	\$	40.00	\$	65,480.00	\$	24.00	\$ 39,288.00
4	Stabilized Construction Entrance, complete in place,	2	EA	\$ 1,500.0	00 \$	3,000.00	\$	1,321.58	\$	2,643.16	\$	2,500.00	\$	5,000.00	\$ 2,2	00.00	\$ 4,400.00
5	Silt Fence for Erosion Control, complete in place,	6,052	LF	\$ 3.0	00 \$	18,156.00	\$	2.01	\$	12,164.52	\$	3.00	\$	18,156.00	\$	2.25	\$ 13,617.00
6	Rock Berm, complete in place,	72	LF	\$ 45.0	00 \$	3,240.00	\$	37.92	\$	2,730.24	\$	25.00	\$	1,800.00	\$	25.00	\$ 1,800.00
7	Tree Protection, Type A Chain Link, complete in place,	2,579	LF	\$ 3.0	00 \$	7,737.00	\$	3.05	\$	7,865.95	\$	4.00	\$	10,316.00	\$	2.30	\$ 5,931.70
8	Inlet Protection, complete in place,	4	EA	\$ 400.	00 \$	1,600.00	\$	86.19	\$	344.76	\$	100.00	\$	400.00	\$ 1	50.00	\$ 600.00
9	Erosion Blanket, Curlex II, or approved equal, complete in place, ,	7,355	SY	\$ 1.	40 \$	10,297.00	\$	4.88	\$	35,892.40	\$	2.00	\$	14,710.00	\$	2.00	\$ 14,710.00
10	Turf Reinforcement Mat (TRM), Land Lok 300, or Appoved Equal, Complete in place,	294	SY	\$ 5.	00 \$	1,470.00	\$	8.62	\$	2,534.28	\$	7.50	\$	2,205.00	\$	21.00	\$ 6,174.00
11	Non-Native Seeding for Erosion Control, Complete in place,	1	LS	\$ 45,000.	00 \$	45,000.00	\$	11,082.83	\$	11,082.83	\$	51,000.00	\$	51,000.00	\$ 26,0	00.00	\$ 26,000.00
12	Flexible Base, including subgrade preparation, complete in place,	845	CY	\$ 31.	00 \$	26,195.00	\$	102.81	\$	86,874.45	\$	100.00	\$	84,500.00	\$	45.00	\$ 38,025.00
13	Hot Mix Asphaltic Concrete Pavement, (1-1/2" Thick, Type C), Complete in place,	426	SY	\$ 80.	00 \$	34,080.00	\$	39.93	\$	17,010.18	\$	28.00	\$	11,928.00	\$	22.00	\$ 9,372.00

BID TAE	3			D	&S CONCRE	TE CON	ITRACTORS		THE BARR	COMPA	ANY, AIA		CHASCO C	ONSTR	UCTORS		WAELTZ (ENGINE	avalence distriction
				A	ddendum #1		Acknowledged		Addendum #1		Acknowledged		Addendum #1		Acknowledged	3	Addendum #1	•
					ddendum #2		Acknowledged		Addendum #2		Acknowledged		Addendum #2		Acknowledged		Addendum #2	ĕ
					ddendum #3		Acknowledged		Addendum #3		Acknowledged		Addendum #3		Acknowledged		Addendum #3	14
					Bid Bond		Received	_	Bid Bond		Received	_	Bid Bond		Received		Bid Bond	•
				-	Safety Exp		Completed	-	Safety Exp		Completed	_	Safety Exp		Completed	_	Safety Exp	•
Bid Item		Quantity	Unit	U	Jnit Price		Cost		Unit Price		Cost		Unit Price		Cost		Unit Price	Cost
14	Metal Beam Guard Fence, including posts and all appurtanences, Complete in place,	300	LF	\$	75.00	\$	22,500.00	\$	28.73	\$	8,619.00	\$	50.00	\$	15,000.00	\$	65.00	\$ 19,500.00
15	Pedestrian Truss Bridge (75'), Including the Coordination of Shipping, Delivery, Acceptance, and Installation of the Pedestrian Bridge, including all Appurtenances, Complete in place,	1.	EA	\$ *	130,000.00	\$	130,000.00	\$	137,858.03	\$	137,858.03	\$	121,380.00	\$	121,380.00	\$	100,000.00	\$ 100,000.00
16	10' x 10' Concrete Box Culvert, including excavation, bedding, backfill, subgrade prep, and all appurtenances, complete in place,	72	LF	\$	950.00	\$	68,400.00	\$	3,694.79	\$	266,024.88	\$	4,900.00	\$	352,800.00	\$	900.00	\$ 64,800.00
17	Parallel Wing Wall for Box Culvert (Type PW-2), complete in place,	2	EA	\$	10,000.00	\$	20,000.00	\$	26,123.06	\$	52,246.12	\$	40,000.00	\$	80,000.00	\$	15,000.00	\$ 30,000.00
18	P.C. Concrete Ribbon Curb, including all appurtenance, Complete in place,	180	LF	\$	25.00	\$	4,500.00	\$	7.89	\$	1,420.20	\$	22.00	\$	3,960.00	\$	14.00	\$ 2,520.00
19	P.C. Concrete Trail, (5" thick), complete in place,	60,747	SF	\$	11.00	\$	668,217.00	\$	6.68	\$	405,789.96	\$	5.50	\$	334,108.50	\$	5.25	\$ 318,921.75
20	P.C. Concrete Sidewalk, (4" Thick), complete in place,	567	SF	\$	8.00	\$	4,536.00	\$	8.42	\$	4,774.14	\$	6.50	\$	3,685.50	\$	4.50	\$ 2,551.50
21	Gabion Mattress, including subgrade preparation, fabric, and all appurtenances, complete in place,	300	CY	\$	75.00	\$	22,500.00	\$	193.45	\$	58,035.00	\$	265.00	\$	79,500.00	\$	65.00	\$ 19,500.00
22	P.C. Concrete SET (3:1), Single 12" RCP, complete in place,	2	EA	\$	1,200.00	\$	2,400.00	\$	2,011.10	\$	4,022.20	\$	1,800.00	\$	3,600.00	\$	3,500.00	\$ 7,000.00
23	P.C. Concrete SET (3:1), Double 18" RCP, complete in place,	3	EA	\$	1,500.00	\$	4,500.00	\$	2,758.08	\$	8,274.24	\$	4,300.00	\$	12,900.00	\$	4,000.00	\$ 12,000.00
24	P.C. Concrete SET (3:1), Single 24" RCP, complete in place,	2	EA	\$	1,800.00	\$	3,600.00	\$	2,815.54	\$	5,631.08	\$	2,600.00	\$	5,200.00	\$	4,000.00	\$ 8,000.00
25	Pipe, 8" DI CL 350, including excavation, backfill, and all appurtenances, complete in place,	126	LF	\$	115.00	\$	14,490.00	\$	287.30	\$	36,199.80	\$	270.00	\$	34,020.00	\$	50.00	\$ 6,300.00
26	Valve, 8" G.V., including Valve Box and all appurtenances, complete in place,	2	EA	\$	2,200.00	\$	4,400.00	\$	2,873.00	\$	5,746.00	\$	1,750.00	\$	3,500.00	\$	2,250.00	\$ 4,500.00
27	Pipe, 12" RCP CL III, including excavation, backfill, and all appurtenances, complete in place,	142	LF	\$	120.00	\$	17,040.00	\$	57.46	\$	8,159.32	\$	60.00	\$	8,520.00	\$	45.00	\$ 6,390.00

BID TAB	3					TE CON	TRACTORS		THE BARR	COMPA	ANY, AIA		CHASCO C	ONSTR	JCTORS		WAELTZ (ENGINE	
		-			dendum #1		Acknowledged	_	ldendum #1		Acknowledged	Α	ddendum #1		Acknowledged	А	ddendum #1	-
				-	dendum #2		Acknowledged	_	dendum #2		Acknowledged	Α	ddendum #2		Acknowledged	Α	ddendum #2	
					dendum #3	_	Acknowledged		dendum #3		Acknowledged	Α	ddendum #3		Acknowledged	Α	ddendum #3	2
				-	afety Exp		Received Completed	_	Bid Bond Safety Exp		Received Completed		Bid Bond Safety Exp		Received Completed		Bid Bond	ш
Bid Item		0 13	11.														Safety Exp	
		Quantity	Unit	Ur	nit Price		Cost		nit Price		Cost	l	Jnit Price		Cost	ι	Jnit Price	Cost
28	Pipe, 18" RCP CL III, including excavation, backfill, and all appurtenances, complete in place,	138	LF	\$	150.00	\$	20,700.00	\$	86.19	\$	11,894.22	\$	70.00	\$	9,660.00	\$	55.00	\$ 7,590.00
29	Pipe, 24" RCP CL III, including excavation, backfill, and all appurtenances, complete in place,	153	LF	\$	180.00	\$	27,540.00	\$	114.92	\$	17,582.76	\$	80.00	\$	12,240.00	\$	70.00	\$ 10,710.00
30	Pipe, 24" RCP CL V, including excavation, backfill, and all appurtenances, complete in place,	53	LF	\$	180.00	\$	9,540.00	\$	143.65	\$	7,613.45	\$	110.00	\$	5,830.00	\$	70.00	\$ 3,710.00
31	Sleeve, CONDT (4" PVC) SCHD 40, complete in place,	462	LF	\$	12.00	\$	5,544.00	\$	28.73	\$	13,273.26	\$	25.00	\$	11,550.00	\$	13.00	\$ 6,006.00
32	Dry Riprap, Rock (d50 = 15" dia.) complete in place,	84	CY	\$	300.00	\$	25,200.00	\$	126.41	\$	10,618.44	\$	260.00	\$	21,840.00	\$	125.00	\$ 10,500.00
33	Dry Riprap, Rock (d50 = 18" dia.) complete in place,	31	CY	\$	300.00	\$	9,300.00	\$	120.67	\$	3,740.77	\$	280.00	\$	8,680.00	\$	130.00	\$ 4,030.00
34	3' x 3' grate inlet, complete in place,	2	EA	\$	5,000.00	\$	10,000.00	\$	2,873.00	\$	5,746.00	\$	2,500.00	\$	5,000.00	\$	4,500.00	\$ 9,000.00
35	4' x 4' grate inlet, complete in place,	1	EA	\$	6,000.00	\$	6,000.00	\$	4,022.20	\$	4,022.20	\$	3,500.00	\$	3,500.00	\$	5,000.00	\$ 5,000.00
36	Mortared Rock Retaining Wall, complete in place,	47	SF	\$	25.00	\$	1,175.00	\$	51.71	\$	2,430.37	\$	40.00	\$	1,880.00	\$	25.00	\$ 1,175.00
37	Pedestrian Guard Rail including metal rails, concrete post base, and all appurtenances, complete in place,	538	LF	\$	120.00	\$	64,560.00	\$	83.56	\$	44,955.28	\$	120.00	\$	64,560.00	\$	82.00	\$ 44,116.00
38	Black Vinyl Chain Link Fence, including post base and all appurtenances, complete in place,	635	LF	\$	6.00	\$	3,810.00	\$	35.30	\$	22,415.50	\$	29.00	\$	18,415.00	\$	45.00	\$ 28,575.00
39	Barbed Wire Fence, TxDot 5 Strand including post, wire, base and all appurtenances, complete in place,	323	LF	\$	25.00	\$	8,075.00	\$	7.93	\$	2,561.39	\$	11.00	\$	3,553.00	\$	25.00	\$ 8,075.00
40	Flagstone Pavement (Smooth Cut), complete in place,	5,127	SF	\$	15.00	\$	76,905.00	\$	36.77	\$	188,519.79	\$	20.00	\$	102,540.00	\$	12.00	\$ 61,524.00
41	Bench, complete in place,	5	EA	\$	1,100.00	\$	5,500.00	\$	976.82	\$	4,884.10	\$	1,250.00	\$	6,250.00	\$	1,300.00	\$ 6,500.00
42	Bench Pad, complete in place,	5	EA	\$	500.00	\$	2,500.00	\$	367.22	\$	1,836.10	\$	2,000.00	\$	10,000.00	\$	3,500.00	\$ 17,500.00
43	Dog Waste Station, complete in place,	6	EA	\$	600.00	\$	3,600.00	\$	453.93	\$	2,723.58	\$	1,850.00	\$	11,100.00	\$	1,500.00	\$ 9,000.00
44	Trail Distance/ Location Marker, complete in place,	5	EA	\$	300.00	\$	1,500.00	\$	172.38	\$	861.90	\$	475.00	\$	2,375.00	\$	850.00	\$ 4,250.00

BID TAB				ı	D&S CONCRE	TE CON	TRACTORS	THE BARR	COMPA	ANY, AIA		CHASCO C	ONSTR	UCTORS		WAELTZ (ENGINE	& PRET	
				1	Addendum #1		Acknowledged	Addendum #1		Acknowledged	1	Addendum #1		Acknowledged	А	ddendum #1		-
				1	Addendum #2		Acknowledged	Addendum #2		Acknowledged	1	Addendum #2		Acknowledged	А	ddendum #2		12
				1	Addendum #3		Acknowledged	Addendum #3		Acknowledged	1	Addendum #3		Acknowledged	А	ddendum #3		
					Bid Bond		Received	Bid Bond		Received		Bid Bond		Received		Bid Bond		
				-	Safety Exp		Completed	Safety Exp		Completed		Safety Exp		Completed		Safety Exp		-
Bid Item		Quantity	Unit		Unit Price		Cost	Unit Price		Cost	ı	Unit Price		Cost	ι	Jnit Price		Cost
45	No Dig Signs, complete in place,	2	EA	\$	300.00	\$	600.00	\$ 344.76	\$	689.52	\$	375.00	\$	750.00	\$	500.00	\$	1,000.00
46	Eco Counter, complete in place,	1	EA	\$	2,500.00	\$	2,500.00	\$ 2,873.00	\$	2,873.00	\$	5,200.00	\$	5,200.00	\$	2,500.00	\$	2,500.00
47	Electric Service, Provide Unistrut with meter, 100 amp Panel, 120V, & all appurtenances, complete in place,	2	EA	\$	4,000.00	\$	8,000.00	\$ 86,190.00	\$	172,380.00	\$	4,750.00	\$	9,500.00	\$	3,000.00	\$	6,000.00
48	2' (Wall Height) complete in place,	96	LF	\$	146.00	\$	14,016.00	\$ 137.90	\$	13,238.40	\$	215.00	\$	20,640.00	\$	100.00	\$	9,600.00
49	4' (Wall Height) complete in place,	360	LF	\$	292.00	\$	105,120.00	\$ 176.98	\$	63,712.80	\$	450.00	\$	162,000.00	\$	120.00	\$	43,200.00
50	6' (Wall Height) complete in place,	474	LF	\$	438.00	\$	207,612.00	\$ 264.32	\$	125,287.68	\$	775.00	\$	367,350.00	\$	180.00	\$	85,320.00
51	8' (Wall Height) complete in place,	206	LF	\$	584.00	\$	120,304.00	\$ 366.02	\$	75,400.12	\$	1,000.00	\$	206,000.00	\$	240.00	\$	49,440.00
52	10' (Wall Height) complete in place,	84	LF	\$	730.00	\$	61,320.00	\$ 545.87	\$	45,853.08	\$	1,500.00	\$	126,000.00	\$	300.00	\$	25,200.00
53	12' (Wall Height) complete in place,	24	LF	\$	876.00	\$	21,024.00	\$ 517.14	\$	12,411.36	\$	1,900.00	\$	45,600.00	\$	360.00	\$	8,640.00
54	14' (Wall Height) complete in place,	56	LF	\$	1,022.00	\$	57,232.00	\$ 689.52	\$	38,613.12	\$	2,350.00	\$	131,600.00	\$	490.00	\$	27,440.00
55	16' (Wall Height) complete in place,	50	LF	\$	1,168.00	\$	58,400.00	\$ 804.44	\$	40,222.00	\$	2,950.00	\$	147,500.00	\$	560.00	\$	28,000.00
56	4'x 4' Block Wall Section for Single 24" Drain Pipe, including all appurtenances, complete in place,	1	EA	\$	2,000.00	\$	2,000.00	\$ 1,195.17	\$	1,195.17	\$	1,500.00	\$	1,500.00	\$	400.00	\$	400.00
57	4'x 8' Block Wall Section for Double 18" Drain Pipe, including all appurtenances, complete in place,	1	EA	\$	4,000.00	\$	4,000.00	\$ 3,217.76	\$	3,217.76	\$	2,100.00	\$	2,100.00	\$	800.00	\$	800.00
58	Concrete Bridge Abutment including all appurtenances, complete in place,	2	EA	\$	10,500.00	\$	21,000.00	\$ 8,983.64	\$	17,967.28	\$	7,650.00	\$	15,300.00	\$	8,000.00	\$	16,000.00
59	Piers, 24" Diameter, including all appurtenances, complete in place,	70	VF	\$	180.00	\$	12,600.00	\$ 5,935.62	\$	415,493.40	\$	345.00	\$	24,150.00	\$	150.00	\$	10,500.00
60	Pavement Treatment, heavy salt finish, including all appurtenances, complete in place,	330	SF	\$	12.00	\$	3,960.00	\$ 12.07	\$	3,983.10	\$	5.00	\$	1,650.00	\$	3.00	\$	990.00
61	Pavement Treatment, dark stain "cor-ten" Salt/Broom finish, complete in place,	1,342	SF	\$	15.00	\$	20,130.00	\$ 12.07	\$	16,197.94	\$	6.00	\$	8,052.00	\$	3.00	\$	4,026.00

BID TAB				1	D&S CONCRE	TE CON	NTRACTORS	THE BARR	COMP	ANY, AIA	CHASCO C	ONSTR	UCTORS		WAELTZ (ENGINE		The state of the s
				1	Addendum #1		Acknowledged	Addendum #1		Acknowledged	Addendum #1		Acknowledged	70	Addendum #1	LAC ESTIN	nATE)
				F	Addendum #2		Acknowledged	Addendum #2		Acknowledged	Addendum #2		Acknowledged	_	Addendum #2		-
				1	Addendum #3		Acknowledged	Addendum #3		Acknowledged	Addendum #3		Acknowledged	-	Addendum #3		
					Bid Bond		Received	Bid Bond		Received	Bid Bond		Received	<u> </u>	Bid Bond		
-				+	Safety Exp		Completed	Safety Exp		Completed	Safety Exp		Completed		Safety Exp		
Bid Item		Quantity	/ Unit		Unit Price		Cost	Unit Price		Cost	Unit Price		Cost		Unit Price		Cost
62	North Wing Wall with Column, at Georgetown street, complete in place,	1	SF	\$	4,500.00	\$	4,500.00	\$ 4,079.66	\$	4,079.66	\$ 8,000.00	\$	8,000.00	\$	4,500.00	\$	4,500.00
63	South Wing Wall with Column, at Georgetown street, complete in place,	1	LS	\$	4,500.00	\$	4,500.00	\$ 4,079.66	\$	4,079.66	\$ 8,000.00	\$	8,000.00	\$	4,500.00	\$	4,500.00
64	Trail Head Signage stand-alone, at Georgetown street, complete in place,	1	LS	\$	2,500.00	\$	2,500.00	\$ 7,478.99	\$	7,478.99	\$ 8,000.00	\$	8,000.00	\$	2,500.00	\$	2,500.00
65	Call Box & Electrical Connection, complete in place,	1	LS	\$	7,500.00	\$	7,500.00	\$ 22,984.00	\$	22,984.00	\$ 8,000.00	\$	8,000.00	\$	15,000.00	\$	15,000.00
66	Trail Head Signage with Wing Wat A.W. Grimes, complete in place,	all 1	LS	\$	2,500.00	\$	2,500.00	\$ 3,734.90	\$	3,734.90	\$ 13,000.00	\$	13,000.00	\$	5,500.00	\$	5,500.00
67	Landscape Shrubs 3 GAL including planting, and staking, complete in place,	155	EA	\$	45.00	\$	6,975.00	\$ 20.69	\$	3,206.95	\$ 33.00	\$	5,115.00	\$	20.00	\$	3,100.00
68	Landscape Groundcovers 1 GAL, including planting, complete in place,	95	EA	\$	50.00	\$	4,750.00	\$ 13.22	\$	1,255.90	\$ 11.00	\$	1,045.00	\$	10.00	\$	950.00
69	12" Depth Soil mix in Landscape Beds complete in place,	21	CY	\$	20.00	\$	420.00	\$ 64.36	\$	1,351.56	\$ 58.00	\$	1,218.00	\$	20.00	\$	420.00
70	Geotextile fabric, complete in place,	563	SF	\$	3.00	\$	1,689.00	\$ 9.77	\$	5,500.51	\$ 1.00	\$	563.00	\$	3.00	\$	1,689.00
71	1/4" Steel Edging, complete in place,	126	LF	\$	11.00	\$	1,386.00	\$ 7.99	\$	1,006.74	\$ 5.50	\$	693.00	\$	8.00	\$	1,008.00
72	New Site Irrigation System including all trenching, conduit, backfill, wiring, fittings, boxes, fixtures, controller, meters and appurtenances, complete in place,	1	LS	\$	15,000.00	\$	15,000.00	\$ 20,011.02	\$	20,011.02	\$ 45,000.00	\$	45,000.00	\$	15,000.00	\$	15,000.00
73	Place 3" Depth Hardwood Mulch, (Material is provided by Owner On-Site.) complete in place,	5.2	CY	\$	75.00	\$	390.00	\$ 29.88	\$	155.38	\$ 50.00	\$	260.00	\$	15.00	\$	78.00
74	Civil – Sheet C-40 - 2' (Wall Height) Quarry Cut 4' x 2' x 2' Limestone Block Retaining Wall, Including Backfill, 12" Concrete footer, 6" limestone base, wall drainage rock, with weeps And all appurtenances, complete in place,	40	LF	\$	146.00	\$	5,840.00	\$ 137.90	\$	5,516.00	\$ 210.00	\$	8,400.00	\$	100.00	\$	4,000.00
75	Civil – Sheet C-40 - 4' (Wall Height) Quarry Cut 4' x 2' x 2' Limestone Block Retaining Wall, Including Backfill, 12" Concrete footer, 6" limestone base, wall drainage rock, with weeps And all appurtenances, complete in place,	80	LF	\$	292.00	\$	23,360.00	\$ 206.86	\$	16,548.80	\$ 320.00	\$	25,600.00	\$	120.00	\$	9,600.00

BID TAB	3				TE CONTRACTORS	THE BARR	COMPANY, AIA	CHASCO C	ONSTRUCTORS		PRETE, INC. S ESTIMATE)
			()	Addendum #1	Acknowledged	Addendum #1	Acknowledged	Addendum #1	Acknowledged	Addendum #1	-
			ϵ^{-2}	Addendum #2	Acknowledged	Addendum #2	Acknowledged	Addendum #2	Acknowledged	Addendum #2	
			('	Addendum #3	Acknowledged	Addendum #3	Acknowledged	Addendum #3	Acknowledged	Addendum #3	
			ϵ '	Bid Bond	Received	Bid Bond	Received	Bid Bond	Received	Bid Bond	
				Safety Exp	Completed	Safety Exp	Completed	Safety Exp	Completed	Safety Exp	-
Bid Item		Quantity	Unit	Unit Price	Cost	Unit Price	Cost	Unit Price	Cost	Unit Price	Cost
	Total Base Bid Amount (Base Bid Items 1 thru 76)				\$ 2,599,553.00		\$ 2,925,154.18		\$ 3,414,548.00	TOTAL ESTIMATE:	\$ 1,677,102.
	Materials : All Other Charges :				\$ 1,400,000.00 \$ 1,199,553.00		\$ 1,170,061.67 \$ 1,755,092.51		\$ 1,070,055.00 \$ 2,344,385.00	10% CONTINGENCY:	\$ 1,524,638 \$ 152,463

ALTERNATE BID ITEM, ADDITIVE & DEDUCTIVE QUANT Bid Item		11.11	 			-								
Did item	Quantity	Unit	U	nit Price	 Cost	U	Init Price	Cost	U	nit Price	Cost	Uı	nit Price	Cost
A-1 Add/Deduct for Piers over/under bid length noted in plans, 24" Diameter, including all appurtenances, complete in place,	1	VF	\$	180.00	\$ 180.00	\$	114.92	\$ 114.92	\$	345.00	\$ 345.00	\$	70.00	\$ 70.00

IDENTIFY MATHMATICAL ERRORS IN BID

